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MoTtunBauus

func SliceContainsVO(s []Juint8, target uint8) bool {
return slices.Contains(s, target)
}
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MoTtunBauus

func SliceContainsVO(s []Juint8, target uint8) bool {
return slices.Contains(s, target)
}

func SliceContainsV1(s []Juint8, target uint8) bool
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MoTtunBauus

func SliceContainsVO(s []Juint8, target uint8) bool {
return slices.Contains(s, target)
}

func SliceContainsV1(s []Juint8, target uint8) bool

go test -bench=. -benchmem -cpu=1
goos: darwin
goarch: armé4

pkg: asm/simd/slice_contains

cpu: Apple M3 Pro

BenchmarkSliceContains/SliceContainsV1 18330 ns/op 0@ allocs/op
BenchmarkSliceContains/SliceContainsV0 256653 ns/op 0 allocs/op
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MoTtunBauus

DEG-RAD

xY
asin
acos

atan

lg

x!

sin

COos

tan

256653 / 18330 =14,0018003273

14,0018003273

+ C () % +
1/x 7 8 9 X
J 4 5 6 -
In 1 2 3 i
e 0 ; =

13



Rob Pike

Also, perhaps most important: it is
how we talk about the machine.
Knowing assemhbly, even a little, means
understanding computers better.



https://www.youtube.com/watch?v=KINIAgRpkDA&t=569s
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[ lpeabicTOopuUS

Bell Labs

= Plan g operation system

Sun Jun 11 12:45 - olive(4) anna achille
ﬁ ﬁ Germany 9 1 |
I : Lo,
2 e Atror] L |
o o LT Wnrvoo B c | : | 11 ]
rsc /dev/n ]mk skipt tklopp john hrucee lorenz o WL detamsmi i b 4 IF
12:17 11:47 11:16 02:50 02:05 02:03 Jun 10 Jun 10 L] S0 P VA Al

Mail Newcol Kill Putall Dump Exit
| New Cut Paste Snatf Sort Zerox Delcol ]
Ymall/fs/mbox/:i‘t/ Del Snarf | Look Reply all Delmesg Save

New Cut Paste Sharf Sort Zerox Delcol]
_| /acme/mail/guide Del Sharf | Look |
Mail stored
plumb /mail/box/$user/names
mail —’x’ someaddress
imk@plan9.bell-labs.com rsc@plan9.bel| | mkbox /mail/box/$user/new_box
| [/mail/fs/mbox/ Del Snarf | Look Put Mail
34/ Russ Cox <rsc@plan9.bell-labs.com> Su
n11jun 12:17

%g scat

ori |
638 items
plot nogt =>3/ (multlpart/mlxed) [inlinel

34/1/ (text/plain)
34/2/ rob pike <rob> (text/plain)
= - 34/3/ renee french <cornelia@world.st
ody.jpg /usr/rob/plangbunnysm.jpg d.com>
34/3/1/ (text/plain)
34/3/2/ (image/jpeg)
34/3/3/ (text/plain)
33/ /fdev/null Sun 11 jun 11:47
32/ jmk Sun 11 Jun 11:16
32/1/ (text/plain)
32/2/ DAGwyn®@aol.com (text/pl

| | /ust/rob/lib/plumbing Del Snarf | Look |
[ to update: cp /usr/$user/lib/plumbing /mnt/
plumb/rules

5

editor = acme

Plan 9 from Bell Lab | 3-6 augrim, 4 -ym, 5 -ime,
| —-ime, 7 agrum, algrim. B. 4-6
yarosme, aulgorismf(e, augrlsme
. | alg . augorisme, algorisme, augorime;
window ¥ aq, med I8 algorlsm us (cf. Sp. guarismo ciphen), f. Arab. al-Khowar:
X | the native of Khwarazm (Khiva), surname of the Arab mathematician
x.gif [ Abu Jafar Mohammed Ben Musa, who flourished early in the 9th
y c., and throufgh the translation of whose work on Algebra, the
H7<ZE | Arabic numerals became generally known in Europe. (Cf. ‘Euclid’
%g echl = plane geometry.) Algorisme being popularly reduced in OFr.
iy to augorime, English also shows two forms, the popular augrime,
*9 | ending in agrim, agrum, and the learned algorism which passed
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[ lpeabicTOopuUS

Bell Labs
= Plan g operation system

= Plangassembler

Sun Jun 11 12:45 - olive(4) anna achille
ﬁ ﬁ Germany 9 1 |
I : Lo,
2 e Atror] L |
o o LT Wnrvoo B c | : | 11 ]
rsc /dev/n ]mk skipt tklopp john hrucee lorenz o WL detamsmi i b 4 IF
12:17 11:47 11:16 02:50 02:05 02:03 Jun 10 Jun 10 L] S0 P VA Al

Mail Newcol Kill Putall Dump Exit
| New Cut Paste Snatf Sort Zerox Delcol ]
Ymall/fs/mbox/:i‘t/ Del Snarf | Look Reply all Delmesg Save

New Cut Paste Sharf Sort Zerox Delcol]
_| /acme/mail/guide Del Sharf | Look |
Mail stored
plumb /mail/box/$user/names
mail —’x’ someaddress
imk@plan9.bell-labs.com rsc@plan9.bel| | mkbox /mail/box/$user/new_box
| [/mail/fs/mbox/ Del Snarf | Look Put Mail
34/ Russ Cox <rsc@plan9.bell-labs.com> Su
n11jun 12:17

%g scat

ori |
638 items
plot nogt =>3/ (multlpart/mlxed) [inlinel

34/1/ (text/plain)
34/2/ rob pike <rob> (text/plain)
= - 34/3/ renee french <cornelia@world.st
ody.jpg /usr/rob/plangbunnysm.jpg d.com>
34/3/1/ (text/plain)
34/3/2/ (image/jpeg)
34/3/3/ (text/plain)
33/ /fdev/null Sun 11 jun 11:47
32/ jmk Sun 11 Jun 11:16
32/1/ (text/plain)
32/2/ DAGwyn®@aol.com (text/pl

| | /ust/rob/lib/plumbing Del Snarf | Look |
[ to update: cp /usr/$user/lib/plumbing /mnt/
plumb/rules

5

editor = acme

Plan 9 from Bell Lab | 3-6 augrim, 4 -ym, 5 -ime,
| —-ime, 7 agrum, algrim. B. 4-6
yarosme, aulgorismf(e, augrlsme
. | alg . augorisme, algorisme, augorime;
window ¥ aq, med I8 algorlsm us (cf. Sp. guarismo ciphen), f. Arab. al-Khowar:
X | the native of Khwarazm (Khiva), surname of the Arab mathematician
x.gif [ Abu Jafar Mohammed Ben Musa, who flourished early in the 9th
y c., and throufgh the translation of whose work on Algebra, the
H7<ZE | Arabic numerals became generally known in Europe. (Cf. ‘Euclid’
%g echl = plane geometry.) Algorisme being popularly reduced in OFr.
iy to augorime, English also shows two forms, the popular augrime,
*9 | ending in agrim, agrum, and the learned algorism which passed
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Go accemMbnep

= Ha nepBou e cTpaHuLe OOKYMeHTaunm
CCblJ1aeTcsd Ha Plan g

A Manual for the Plan 9 assembler

Rob Pike
rob@plan9 .bell-labs.com


https://golang.google.cn/doc/asm

Plan g and Go assemhblers

- TonbKo He CANCbIBAK ,
TOUL B TOUDL :
- o

e
L

3
- !

g
:

sum(SB 0
first+0(FP RO
second+8(FP R1

ADD RO, R1
R1, ret+16(FP

RET
sum(SB 0
argl+O(FP RO
arg2+4(FP RO
RTS



CtaHaoapTHasa bnbnumoTteka

= math

= rCcrypto
= reflerct
= runtime
= gync

= gyscall

= internal packages



[ lpeabicTOopuUS

Go assembhbler

= ba3upyetcd Ha Plan g assembler
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[ lpeabicTOopuUS

Go assemhbler
= ba3upyetcd Ha Plan g assembler
= ABngeTtca JacTbto Go toolchain

= 3HavyanbHO ObiN1 AobaBneH B A3bIK A4
paHTanma

23



03,

YMHbIE€ cnoBa




MHeMOHUuKa

Cnocob nerye 3anoMuHaTbe MHOPMAaLMIO

CALL - oxf
MOVD - ox123
ADD - ox777
RET - 0X444

25



PerncTtp n namaTb



https://www.tutorialspoint.com/difference-between-sram-and-dram#:~:text=DRAM%20is%20a%20high%20density,cache%20memory%20of%20computer%20systems

PerncTtp n namaTb

ORRTIC A R1 = int64(RO)



https://www.tutorialspoint.com/difference-between-sram-and-dram#:~:text=DRAM%20is%20a%20high%20density,cache%20memory%20of%20computer%20systems

PerncTtp n namaTb

(R®) |wow| R1 | i—r R1 = *RO



https://www.tutorialspoint.com/difference-between-sram-and-dram#:~:text=DRAM%20is%20a%20high%20density,cache%20memory%20of%20computer%20systems

ApPXUTEKTYpA

func O A
println( )
println( )
}



ApPXUTEKTYpA

func main() {
println(runtime.G00S)
println(runtime.GOARCH)
}

GOOS: aix, android, darwin, dragonfly, freebsd, illumos, ios, s, linux, nethsd,
openbsd, wasip1, plans, solaris, wasip1, windows...

GOARCH: 286, amde4, arm, arme4, loonge4, mips, mipse4, mipse4le, mipsle,
DPCE4, PpCE4lE, FiSCVE4, S390X, WASM...

20



MaLlwnHHoOe CnoBo

B BbluMCNUTENBHOW N MHOW NPOrpaMMnUpPyeEMOnN TEXHUKE MaLLUHHbLIM
CITOBOM Ha3sbIBaeTcAa eAuHu1La JaHHbIX, KOTopas BbibpaHa
eCTeCTBEeHHOW A5 AaHHOW apXUTEKTYPbI npoLieccopa



MaLlwnHHoOe CnoBo

B BbluMCNUTENBHOW N MHOW NPOrpaMMnUpPyeEMOnN TEXHUKE MaLLUHHbLIM
CITOBOM Ha3sbIBaeTcAa eAuHu1La JaHHbIX, KOTopas BbibpaHa
eCTeCTBEeHHOW A5 AaHHOW apXUTEKTYPbI npoLieccopa

=  arme4 - 4 bytes

= amde4 [XeE-E4]- 2 bytes



$42

SUB

R1




$42

SUB

R1

Flags register

sign flag [bit]

zero flag [bit]



Program counter

PC = program counter [IP =instruction pointer, IAR =instruction address
register]— pPerucTp npoueccopa, KOTopbIn yKasbiBaET, KaKyto
KOMaHAy HY>XHO BbIMOMHATL CreayroLen



Program counter

PC = program counter [IP =instruction pointer, IAR =instruction address
register]— pPerucTp npoueccopa, KOTopbIn yKasbiBaET, KaKyto
KOMaHAy HY>XHO BbIMOMHATL CreayroLen

program counter



04;
CunHTakcuc




Pasnunymne B MHEMOHUMKAaX

-sum(SB 0
// MOVD - MOV double word
first 0 FP RO
second+8(FP R1

ADD RO, R1
R1, ret+16(FP
RET

-sum(SB 0
// MOVQ - MOV quad word
first 0 FP  AX
second+8(FP DX
AX, DX
DX, ret+16(FP
RET

@ B npeseHTauun armea4, Kog AN amde4 [xe6-64] B

k1|


https://github.com/IgorWalther/gofunc-2024

Pasnunymne B MHEMOHUMKAaX

-sum(SB 0
// MOVD - MOV double word
first+0(FP RO
second+8(FP R1

ADD RG R1
R1, ret+16(FP
RET

-sum(SB 0
// MOVQ - MOV quad word
first+0(FP AX
second+8(FP DX
AX DX
DX, ret+16(FP

RET

29


https://www.quasilyte.dev/blog/post/go-asm-complementary-reference/#external-resources

Pasnunymne B MHEMOHUMKAaX

-sum(SB 0
// MOVD - MOV double word
first+0(FP RO
second+8(FP R1

ADD RO, R1
R1, ret+16(FP
RET

-sum(SB 0
// MOVQ - MOV quad word
first+0(FP AX
second+8(FP DX
AX, DX
DX, ret+16(FP

RET

40


https://www.quasilyte.dev/blog/post/go-asm-complementary-reference/#external-resources

ApundmeTtTnyeckume
N Iorm4yeckne onepauyumn

ADD RO R1 // R1 += RO
SUB RO, R1, R7 // R7 = R1 - RO
MUL $42, RO /] RO *= 42
LSR RO, R4, R7 // R7 = R4 >> RO
MVN R6, R6 /] R6 = ~R6
AND $1, R6 /]l R6 & 1



ApundmeTtTnyeckume
N Iorm4yeckne onepauyumn

ADD RO, R1 // R1 += RO
SUB RO R1 R7 // R7 = R1 - RO
MUL $42, RO /] RO *= 42
LSR RO, R4, R7 // R7 = R4 >> RO
MVN R6, R6 /] R6 = ~R6
AND $1, R6 /]l R6 & 1



ApundmeTtTnyeckume
N Iorm4yeckne onepauyumn

ADD RO, R1 // R1 += RO

SUB RO, R1, R7 // R7 = R1 - RO
MUL 42 RO // RO %= 42

LSR RO, R4, R7 // R7 = R4 >> RO
MVN R6, R6 // R6 = "Ré6

AND $1, R6 /]l R6 & 1



ApundmeTtTnyeckume
N Iorm4yeckne onepauyumn

ADD RO, R1 // R1 += RO

SUB RO, R1, R7 // R7 = R1 - RO
MUL $42, RO /] RO *= 42

LSR RB R4 R7 // R7 = R4 >> RO
MVN R6, R6 /] R6 = ~R6

AND $1, R6 /]l R6 & 1



ApundmeTtTnyeckume
N Iorm4yeckne onepauyumn

ADD RO, R1 // R1 += RO

SUB RO, R1, R7 // R7 = R1 - RO
MUL $42, RO /] RO *= 42

LSR RO, R4, R7 // R7 = R4 >> RO
MVN R6 Ré6 // R6 = "Ré6

AND $1, R6 /]l R6 & 1



ApundmeTtTnyeckume
N Iorm4yeckne onepauyumn

ADD RO, R1 // R1 += RO

SUB RO, R1, R7 // R7 = R1 - RO
MUL $42, RO /] RO *= 42

LSR RO, R4, R7 // R7 = R4 >> RO
MVN R6, R6 /] R6 = ~R6

AND 1 Ré6 // R6 & 1



MHCTpYyKUMK ana paboThl
C NaMATbIO

/l R1 = R® (64-bit operation)
RO, R1 // R1 = RO (32-bit operation)
RO), R1 // R1 = %R0
P 16(RO R1 // R1 = *RO; RO += 16
W -16(RO R1 // RO -= 16; R1 = *RO
RO R1 // *RO = %R1 - INVALID

LDP a+0(FP RO, R1

/l if R5 < R2 {

// R3 = R13
/1 }

// if R5 > R2 {

// R1 = R13
/1 }

CSEL LE, R13, R3, R3
CSEL GT, R13, R1, R1



MHCTpYyKUMK ana paboThl
C NaMATbIO

RO, R1 // R1 = RO (64-bit operation)
// R1 = RO (32-bit operation)
RO), R1 // R1 = %R0
P 16(RO R1 // R1 = *RO; RO += 16
W -16(RO R1 // RO -= 16; R1 = *RO
RO R1 // *RO = %R1 - INVALID

LDP a+0(FP RO, R1

/l if R5 < R2 {

// R3 = R13
/1 }
// if R5 > R2 {
// R1 = R13
/1 }

CSEL LE, R13, R3, R3
CSEL GT, R13, R1, R1



MHCTpYyKUMK ana paboThl
C NaMATbIO

RO, R1 // R1 = RO (64-bit operation)
RO, R1 // R1 = RO (32-bit operation)
RO R1 // R1 = %R0
P 16(RO R1 // R1 = *RO; RO += 16
W -16(RO R1 // RO -= 16; R1 = *RO
RO R1 // *RO = %R1 - INVALID

LDP a+0(FP RO, R1

// if R5 < R2 {

// R3 = R13

/] }

// if R5 > R2 {

// R1 = R13

/1 }

CSEL LE, R13, R3, R3

CSEL GT, R13, R1, R1
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MHCTpYyKUMK ana paboThl
C NaMATbIO

RO, R1 // R1 = RO (64-bit operation)
RO, R1 // R1 = RO (32-bit operation)
RO), R1 // R1 = %R0

HOMDY 2130 D% // R1 = %xR®; RO += 16
W -16(RO R1 // RO -= 16; R1 = *RO
RO R1 // *RO = %R1 - INVALID

LDP a+0(FP RO, R1

/l if R5 < R2 {

// R3 = R13
/1 }
// if R5 > R2 {
// R1 = R13
/1 }

CSEL LE, R13, R3, R3
CSEL GT, R13, R1, R1



MHCTpYyKUMK ana paboThl
C NaMATbIO

RO, R1 // R1 = RO (64-bit operation)
RO, R1 // R1 = RO (32-bit operation)
RO), R1 // R1 = %R0
P 16(RO R1 // R1 = *RO; RO += 16

MOVDR = 10Dy // R® -= 16; R1 = *RO
RO R1 // *RO = %R1 - INVALID

LDP a+0(FP RO, R1

/l if R5 < R2 {

// R3 = R13
/1 }
// if R5 > R2 {
// R1 = R13
/1 }

CSEL LE, R13, R3, R3
CSEL GT, R13, R1, R1



MHCTpYyKUMK ana paboThl
C NaMATbIO

RO, R1 // R1 = RO (64-bit operation)
RO, R1 // R1 = RO (32-bit operation)
RO), R1 // R1 = %R0
P 16(RO R1 // R1 = *RO; RO += 16
W -16(RO R1 // RO -= 16; R1 = *RO

// *R® = *R1 - INVALID

LDP a+0(FP RO, R1

/l if R5 < R2 {

// R3 = R13
/1 }
// if R5 > R2 {
// R1 = R13
/1 }

CSEL LE, R13, R3, R3
CSEL GT, R13, R1, R1



MHCTpYyKUMK ana paboThl
C NaMATbIO

RO, R1 // R1 = RO (64-bit operation)
RO, R1 // R1 = RO (32-bit operation)
RO), R1 // R1 = *RO
P 16(RO R1 // R1 = *RO; RO += 16
W -16(RO R1 // RO -= 16; R1 = *RO
RO R1 // *RO = %R1 - INVALID

LDP a 0 FP RO R1

// if R5 < R2 {

// R3 = R13

/] }

// if R5 > R2 {

// R1 = R13

/1 }

CSEL LE, R13, R3, R3

CSEL GT, R13, R1, R1
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MHCTpYyKUMK ana paboThl
C NaMATbIO

RO, R1 // R1 = RO (64-bit operation) Uero 10 He XBaTaer ..
RO, R1 // R1 = RO (32-bit operation)
RO), R1 // R1 = %R0
P 16(RO R1 // R1 = *RO; RO += 16
W -16(RO R1 // RO -= 16; R1 = *RO
RO R1 // *RO = %R1 - INVALID

LDP a+0(FP RO, R1

// if R5 < R2 {

// R3 = R13
/1 }
// if R5 > R2 {
// R1 = R13
/1 }

CSEL LE R13 R3 R3
CSEL 6T R13 R1 R1
(61



MHCTpYKUMK ynpaBneHuns

Labels [goto]

CMP 1 R4 // Branch less equal (LE)
BLE LO // if R4 < 1 { LO code }
B L1

// branch

// another branch



MHCTpYKUMK ynpaBneHuns

Labels [goto]

CMP $1, R4 // Branch less equal (LE)
BLE LO // if R4 < 1 { LO code }
B L1

// branch

// another branch



MHCTpYKUMK ynpaBneHuns

Labels [goto]

CMP $1, R4 // Branch less equal (LE)
BLE LO // if R4 < 1 { LO code }
B L1

// branch

// another branch



MHCTpYKUMK ynpaBneHuns

Labels [goto] Edgar Dijkstra: 6o To Statement Considered Harmful

CMP $1, R4 // Branch less equal (LE)
BLE LO // if R4 < 1 { LO code }
B L1

LO:
// branch
L1:
// another branch




MHCTpYKUMK ynpaBneHuns

Program counter

// cycle

/l for {

// RO += 1
// RO %= 2
/] }

//

ADD $1, RO
MUL $2, RO
B 2 PC



[ nobanbHble NepeMEHHbIE

~ data ® SB 20 "Hello, GoFunc-2024'\n"
GLOBL data SB 20

// inside function
text O(SB RO




[ nobanbHble NepeMEHHbIE

DATA data O(SB) /20, $"Hello, GoFunc-2024'\n"
~ data SB 20

// inside function
text O(SB RO




[ nobanbHble NepeMEHHbIE

DATA data O(SB) /20, $"Hello, GoFunc-2024'\n"
GLOBL data SB 20

// inside function
text 0 SB RO




ObbsBneHne pyHKUN

(x [] )

// slice_sum_armé4.s file
// Include standard directives
#include "textflag.h"

// type SliceHeader struct {
// Data uintptr

// Len int
// Cap int
/1}

// NOSPLIT - Don't insert the preamble to check if the stack must be split

// $0-24 (0 - stack frame size, 24 - arguments size), “-24" is optional here
TEXT -SumSlice(SB 0-24

B3



ObbsBneHne pyHKUNI

// slice_sum.go file
func SumSlice int32) inté4

// slice_sum_armé4.s file
// Include standard directives

// type SliceHeader struct {
// Data uintptr

// Len int
// Cap int
/1}

// NOSPLIT - Don't insert the preamble to check if the stack must be split
// $0-24 (0 - stack frame size, 24 - arguments size), “-24" is optional here
TEXT -SumSlice(SB 0-24



ObbsBneHne pyHKUNI

// slice_sum.go file
func SumSlice int32) inté4

// slice_sum_armé4.s file
// Include standard directives
#include "textflag.h"

// type SliceHeader struct {
// Data uintptr

// Len int
// Cap int
/1}

// NOSPLIT - Don't insert the preamble to check if the stack must be split
// $0-24 (0 - stack frame size, 24 - arguments size), “-24" is optional here
B -SumSlice(SB 0-24



ObbsBneHne pyHKUNI

// slice_sum.go file
func SumSlice int32) inté4

// slice_sum_armé4.s file
// Include standard directives
#include "textflag.h"

// type SliceHeader struct {
// Data uintptr

// Len int
// Cap int
/1}

// NOSPLIT - Don't insert the preamble to check if the stack must be split
// $0-24 (0 - stack frame size, 24 - arguments size), “-24" is optional here

TEXT FSURSEEGE (SB 0-24



ObbsBneHne pyHKUNI

// slice_sum.go file
func SumSlice int32) inté4

// slice_sum_armé4.s file
// Include standard directives
#include "textflag.h"

// type SliceHeader struct {
// Data uintptr

// Len int
// Cap int
/1}

// NOSPLIT - Don't insert the preamble to check if the stack must be split
// $0-24 (0 - stack frame size, 24 - arguments size), “-24" is optional here
TEXT -SumSlice[iSBY 0-24



ObbsBneHne pyHKUNI

// slice_sum.go file
func SumSlice int32) inté4

// slice_sum_armé4.s file
// Include standard directives
#include "textflag.h"

// type SliceHeader struct {
// Data uintptr

// Len int
// Cap int
/1}

// NOSPLIT - Don't insert the preamble to check if the stack must be split
// $0-24 (0 - stack frame size, 24 - arguments size), “-24" is optional here
TEXT -SumSlice(SB), [HMUSIHERI $0-24



ObbsBneHne pyHKUNI

// slice_sum.go file
func SumSlice int32) inté4

// slice_sum_armé4.s file
// Include standard directives
#include "textflag.h"

// type SliceHeader struct {
// Data uintptr

// Len int
// Cap int
/1}

// NOSPLIT - Don't insert the preamble to check if the stack must be split
// $0-24 (0 - stack frame size, 24 - arguments size), “-24" is optional here
TEXT -SumSlice(SB B-24



ObbsBneHne pyHKUNI

// slice_sum.go file
func SumSlice int32) inté4

// slice_sum_armé4.s file
// Include standard directives
#include "textflag.h"

// type SliceHeader struct {
// Data uintptr

// Len int
// Cap int
/1}

// NOSPLIT - Don't insert the preamble to check if the stack must be split
// $0-24 (0 - stack frame size, 24 - arguments size), “-24" is optional here
TEXT -SumSlice(SB o-B8



ObbsBneHne pyHKUNI

// slice_sum.go file
func SumSlice int32) inté4

// slice_sum_armé4.s file
// Include standard directives
#include "textflag.h"

// type SliceHeader struct {
// Data uintptr

// Len int
// Cap int
/1}

// NOSPLIT - Don't insert the preamble to check if the stack must be split
// $0-24 (0 - stack frame size, 24 - arguments size), “-24" is optional here
TEXT -SumSlice(SB 0



CunHTakcuc

Go assembhbler

= [1natdpopmo3saBnCUMbIN, 38 UCKIMHOYEHNUEM HECKOSTbKNX MHEMOHUK [RET, TEXT,
CALL...]



CunHTakcuc

Go assembhbler

= [1natdpopmo3saBnCUMbIN, 38 UCKIMHOYEHNUEM HECKOSTbKNX MHEMOHUK [RET, TEXT,
CALL...]

= HectaHpapTHoOe Ha3BaHMe PerucTpoB 1 NOPSAA0K apryMeHToB
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CunHTakcuc

Go assembhbler

= [1natdpopmo3saBnCUMbIN, 38 UCKIMHOYEHNUEM HECKOSTbKNX MHEMOHUK [RET, TEXT,
CALL...]

= HecTtaHpapTHOe Ha3BaHMe PErnMcTpoB U NOPSO0K apryMeHTOB
= HecTtaHpapTHble pa3gennTenu B curHaType dyHKLUm
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CunHTakcuc

Go assembhbler

[TnaTtdopmo3aBNCUMbIN, 3a UCKITKOYEHUEM HECKONBbKNX MHEMOHUK [RET, TEXT,
CALL...]

HecTtaHgapTHOe Ha3BaHWe PErmcTpPoB 1 NOPSAOK apryMeHTOB
HecTtaHgapTHble pa3genuTtenu B curHatype doyHKUMn
OTCyTCTBUE HEKOTOPBIX MHCTPYKLMA N3 KOPOOKM

75



CunHTakcuc

BupTyanbHbie perncrpbi

= PC[program counter]



CunHTakcuc

BupTyanbHble perncTpbl
= PC[program counter]

= SB([static base pointer]
- HYXXeH ans obpalleHns K rmobanbHbIM NepeMeHHbIM U YHKLUSIM
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CunHTakcuc

BupTyanbHble perncTpbl
= PC[program counter]

= SB([static base pointer]
- HYXXeH ans obpalleHns K rmobanbHbIM NepeMeHHbIM U YHKLUSIM

= 8P [stack pointer]

- YKa3blBaeT Ha KOHeL, NaMsATH, BblAeNeHHOW Nop, CTek
- MO CEMaHTUKE B3aUMOAENCTBUS NOXOX Ha frame pointer

78



BupTyanbHble perncTpoil

Frame pointer
= YKasblBaeT Ha Hayarno crnmcka dprymeHToB
= ABCTpakuus ons nporpaMMuUcToB

frame pointer



BupTyanbHble perncTpoil

Frame pointer

O6pal.l.l,aeMCFl KaprymeHTaMm, ncnorb3y4d NonoxXmteribHoe CMeleHne
- a+o[FP]—nepBbIN apryMmeHT PyHKUUN [B byte]
- a+a[FP]— BTOpPOU aprymMeHT oyHKLNMN

frame pointer



BupTyanbHble perncTpoil

= ObssaTenbHbl HEMMUHI apryMeHTOB

- lolkek+o[FP]—
- +16[FP]—invalid



BupTyanbHble perncTpoil

= PesynbraTt hyHKUUM JOMKEH ObITb pa3MeLLLeH Nocne apryMmeHToB

frame pointer



CornawueHune o Bbl3doBax

ABI stahle
= CT1abunbHbIN ABI ANs pa3paboTymKoB



CornawueHune o Bbl3doBax

ABI stahle
= CT1abunbHbIN ABI ANs pa3paboTymKoB
ABI internal

= BHyTpeHHMM ABI KOMNunaTopa [go tool compile -S -5]



CunHTakcuc

,D,I/IpeKTI/IBbI KOMMNINATOPAa
= NOSPLIT

= ABIInternal

= NOPTR [for DATA and GLOBL]
= NEEDCTXT [for closures]

#include
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Slice sum

// func SumSlice(s []1int32) inté4
TEXT -SumSlice(SB 0
// Header cnailica 24 6alita
LDP slice_base+0(FP RO, R1 // RO - data pointer, R1 - 1length
ZERO(R2

loop:
CBZ R1, done // for R1 = 0 {}
MOVW (RB®), R9 // R9 = s[i]
ADD R9, R2 // R2 += R9
ADD $4, RO // RO+
SUB $1, R1 // R1--
B loop

done:
MOVD R2, ret+24(FP
RET



Slice sum

#define ZERO(r
MOVD $0, r

// func SumSlice(s []int32) inté4
( ), NOSPLIT, $
// Header cnaiica 24 6aiTa

LDP slice_base+0(FP RO, R1 // RO - data pointer, R1 - 1length
ZERO(R2
loop:
CBZ R1, done /] for R1 = 0 {}
MOVW (RB®), R9 // R9 = s[i]
ADD R9, R2 // R2 += R9
ADD $4, RO // RO+
SUB $1, R1 /] R1--
B loop
done:
MOVD R2, ret+24(FP
RET



Slice sum

#define ZERO(r
MOVD $0, r

// func SumSlice(s []1int32) inté4
TEXT -SumSlice(SB 0
// Header cnailica 24 6alita
O FP RO ) // RO - data pointer, R1 - 1length

ZERO(R2
loop:
CBZ R1, done // for R1 = 0 {}
MOVW (RB®), R9 // R9 = s[i]
ADD R9, R2 // R2 += R9
ADD $4, RO // RO+
SUB $1, R1 // R1--
B loop
done:
MOVD R2, ret+24(FP
RET



Slice sum

#define ZERO(r
g, r

// func SumSlice(s []int32) inté4

TEXT -SumSlice(SB 0
// Header cnailica 24 6alita

LDP slice_base+0(FP RO, R1 // RO - data pointer, R1 - 1length
loop:

CBZ R1, done // for R1 == 0 {}

RO), R9 // R9 = s[i]

ADD R9, R2 // R2 += R9

ADD $4, RO // RO+

SUB $1, R1 // R1--

B loop
done:

R2, ret+24(FP
RET



Slice sum

#define ZERO(r
MOVD $0, r

// func SumSlice(s []int32) inté4

TEXT -SumSlice(SB 0
// Header cnailica 24 6alita
LDP slice_base+0(FP RO, R1 // RO - data pointer, R1 - 1length
ZERO(R2
Loop:
- CBZ R1 done /| for R1 == 0 {}
MOVW (R®), R9 // R9 = s[i]
ADD R9, R2 // R2 += R9
ADD $4, RO // RO+
SUB $1, R1 // R1--
B loop
done:
MOVD R2, ret+24(FP
RET



Slice sum

#define ZERO(r
MOVD $0, r

// func SumSlice(s []int32) inté4

TEXT -SumSlice(SB 0
// Header cnailica 24 6alita
LDP slice_base+0(FP RO, R1 // RO - data pointer, R1 - 1length
ZERO(R2
loop:
CBZ R1, done // for R1 == 0 {}
RO // R9 = s[il]
ADD R9 R2 /| R2 += R9
ADD $4, RO // RO+
SUB $1, R1 // R1--
B loop
done:
MOVD R2, ret+24(FP
RET



Slice sum

#define ZERO(r
MOVD $0, r

// func SumSlice(s []int32) inté4

TEXT -SumSlice(SB 0
// Header cnailica 24 6alita
LDP slice_base+0(FP RO, R1 // RO - data pointer, R1 - 1length
ZERO(R2
loop:
CBZ R1, done // for R1 == 0 {}
MOVW (R®), R9 // R9 = s[i]
ADD R9, R2 // R2 += R9
// RO+
/l R1--
done:
MOVD R2, ret+24(FP
RET



Slice sum

#define ZERO(r
MOVD $0, r

// func SumSlice(s []int32) inté4

TEXT -SumSlice(SB 0
// Header cnailica 24 6alita
LDP slice_base+0(FP RO, R1 // RO - data pointer, R1 - 1length
ZERO(R2
loop:
CBZ R1, done // for R1 == 0 {}
MOVW (R®), R9 // R9 = s[i]
ADD R9, R2 // R2 += R9
ADD $4, RO // RO+
SUB $1, R1 // R1--
B loop
done:
) 24 FP
RET



Slice contains in GO

// 16-bit alignment for example
func Contains uint8 uint8) bool
for range

e = target {

return true

return false



Slice contains with SIMD instructions

// 16-bit alignment to simplify

func ContainsSIMD uint8
for 0] len
iRlicompare
16

16

return true

return false

uint8) bool
16

Slice [16-byte alignment]




Slice contains with SIMD instructions

//func SliceContainsVl(s []Juint8, target uint8) bool

TEXT -'SliceContainsV1 (SB 0
"0 FP RO ) // RO - data pointer, Rl - length
target+24 (FP R2 // R2 = target

VDUP R2, V1.B16 // V1 = [R2, R2, R2....R2]
loop:

CBZ R1l, no // if Rl == 0 {no code}

VLD1.P 16 (RO V2 .B16 // V2 = *(RO)[:16]; RO += 16

VCMEQ V1.B16, V2.B1l6, V3.Blé6 // compare V1 and V2. V3 = [0000000 111111 000000...]

VADDV V3.B1l6, V2 // V2 = sum(V3)

VMOV V2 .H[O R4 // V2=[intl6,intl6,intl6...]; R4 = V2[0], H - half precision

CBNZ R4, yes
SUB 516, R1
B loop

no:

0, RS
R5, ret+32 (FP

1, R5
R5, ret+32 (FP

@ https://github.com/IgorwWalther/gofunc-zo24/tree/master/slice_contains



Slice contains with SIMD instructions

//func SliceContainsV1l (s []JuintS8,
TEXT -'SliceContainsV1 (SB
LDP slice_base+0 (FP RO, R1
MOVB 24 FP
VDUP R2, V1.B1l6

loop:
CBZ R1, no
VLD1.P 16 (RO V2 .B1l6

VCMEQ V1.B16, V2.B16, V3.Bl6
VADDV V3.Bl6, V2

VMOV V2 H[O R4

CBNZ R4, yes

SUB 516, R1

B loop
no:
0, RS
R5, ret+32(FP
RET
yes
1, RS
R5, ret+32(FP
RET

target uint8) bool
0
// RO - data pointer, Rl - length
// R2 = target
// V1 = [R2, R2, R2....R2]

// if Rl == 0 {no code}

// V2 = *(RO)[:16]; RO += 16

// compare V1 and V2. V3 = [0000000 111111 000000...]

// V2 = sum(V3)

// V2=[intl6,intl6,intl6...]; R4 = V2[0], H - half precision

https://github.com/IgorwWalther/gofunc-zo24/tree/master/slice_contains



Slice contains with SIMD instructions

//func SliceContainsVl(s []Juint8, target uint8) bool

TEXT -SliceContainsV1 (SB 0
LDP slice base+0 (FP RO, R1 // RO - data pointer, Rl - length
target+24 (FP R2 // R2 = target
VDUP R2 V1 B16 // V1 = [R2, R2, R2....R2]
loop:
CBZ R1l, no // if Rl == 0 {no code}
VID1.P 16 (RO V2 .B1l6 // V2 = *(RO)[:16]; RO += 16
VCMEQ V1.B16, V2.B1l6, V3.Blé6 // compare V1 and V2. V3 = [0000000 111111 000000...]
VADDV V3.Bl6, V2 // V2 = sum(V3)
VMOV V2 .H[O R4 // V2=[intl6,intl6,intl6...]; R4 = V2[0], H - half precision

CBNZ R4, yes
SUB 516, R1
B loop

no:

0, RS
R5, ret+32(FP

1, RS
R5, ret+32(FP

‘E’ https://github.com/IgorwWalther/gofunc-zo24/tree/master/slice_contains



Slice contains with SIMD instructions

//func SliceContainsVl(s []Juint8, target uint8) bool

TEXT -SliceContainsV1 (SB 0
LDP slice base+O0 (FP RO, R1 // RO - data pointer, Rl - length
target+24 (FP R2 // R2 = target
VDUP R2, V1.B16 // V1 = [R2, R2, R2....R2]
loop:
// if R1 == 0 {no code}
VLD1.P 16 (RO V2 .B16 // V2 = *(RO)[:16]; RO += 16
VCMEQ V1.B16, V2.B1l6, V3.Blé6 // compare V1 and V2. V3 = [0000000 111111 000000...]
VADDV V3.B1l6, V2 // V2 = sum(V3)
VMOV V2 .H[O R4 // V2=[intl6,intl6,intl6...]; R4 = V2[0], H - half precision

CBNZ R4, yes
SUB 516, R1
B loop

no:

yes:

1, R5
R5, ret+32 (FP

@ https://github.com/IgorwWalther/gofunc-zo24/tree/master/slice_contains 100



Slice contains with SIMD instructions

//func SliceContainsVl(s []Juint8, target uint8) bool

TEXT -'SliceContainsV1 (SB 0

LDP slice base+O0 (FP RO, R1 // RO - data pointer, Rl - length

target+24 (FP R2 // R2 = target

VDUP R2, V1.B16 // V1 = [R2, R2, R2....R2]
loop:

CBZ R1l, no // if Rl == 0 {no code}

RO | . 1 // V2 = *(RO)[:16]; RO += 16

VCMEQ V1.B16, V2.B1l6, V3.Blé6 // compare V1 and V2. V3 = [0000000 111111 000000...]

VADDV V3.B1l6, V2 // V2 = sum(V3)

VMOV V2 .H[O R4 // V2=[intl6,intl6,intl6...]; R4 = V2[0], H - half precision

CBNZ R4, yes
SUB 516, R1
B loop

no:

0, RS
R5, ret+32 (FP

1, R5
R5, ret+32 (FP

‘E’ https://github.com/IgorwWalther/gofunc-zo24/tree/master/slice_contains 101



Slice contains with SIMD instructions

//func SliceContainsVl(s []Juint8, target uint8) bool
TEXT -'SliceContainsV1 (SB 0
LDP slice_base+0 (FP RO, R1
target+24 (FP R2
VDUP R2, V1.Bl6

loop:
CBZ R1, no
VLD1.P 16 (RO V2 .B1l6

// Half precision

CBNZ R4, yes
SUB 516, R1

B loop
no:
0, RS
R5, ret+32 (FP
RET
yes: oxo oxo oxo
1, RS
R5, ret+32 (FP
RET

‘E’ https://github.com/IgorwWalther/gofunc-zo24/tree/master/slice_contains 102



Slice contains with SIMD instructions

//func SliceContainsV1l (s []Juint8, target uint8) bool

TEXT -SliceContainsV1 (SB 0
LDP slice_base+0 (FP RO, R1 // RO - data pointer, Rl - length
target+24 (FP R2 // R2 = target
VDUP R2, V1.B1l6 // V1 = [R2, R2, R2....R2]
loop:
CBZ Rl, no // if Rl == 0 {no code}
VILD1.P 16 (RO V2 .B16 // V2 = *(R0)[:16]; RO += 16
VCMEQ V1.B1l6, V2.Bl6, V3.Bl6 // compare V1 and V2. V3 = [0000000 111111 000000...]
VADDV V3.Bl6, V2 // V2 = sum(V3)
VMOV V2 .H[O R4 // V2=[intl6,intl6,intl6...]; R4 = V2[0], H - half precision
SUB 516, R1
B loop
no:
0, R5

R5, ret+32 (FP

RET
MOVD $ ,
MOVDS 1P 32 FP

. RET
(5

https://github.com/Igorwalther/gofunc-2o24/tree/master/slice_contains 103



Slice contains with SIMD instructions

//func SliceContainsV1l (s []Juint8, target uint8) bool

TEXT -SliceContainsV1 (SB 0
LDP slice_base+0 (FP RO, R1 // RO - data pointer, Rl - length
target+24 (FP R2 // R2 = target
VDUP R2, V1.B1l6 // V1 = [R2, R2, R2....R2]
loop:
CBZ Rl, no // if Rl == 0 {no code}
VILD1.P 16 (RO V2 .B16 // V2 = *(R0)[:16]; RO += 16
VCMEQ V1.B1l6, V2.Bl6, V3.Bl6 // compare V1 and V2. V3 = [0000000 111111 000000...]
VADDV V3.Bl6, V2 // V2 = sum(V3)
VMOV V2 .H[O R4 // V2=[intl6,intl6,intl6...]; R4 = V2[0], H - half precision
CBNZ R4, yes
no:
0, R5
R5, ret+32(FP
RET
yes
1, RS
R5, ret+32(FP
RET

@ https://github.com/Igorwalther/gofunc-2o24/tree/master/slice_contains 104
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BbiBOObI

= Y accembnepa us Go toolchain HeCTaHOAPTHLIM CUHTAKCUC



BbiBOObI

= Y accembnepa us Go toolchain HeCTaHOAPTHLIM CUHTAKCUC
= [lpn ncnonb3oBaHun accembriepa TEPSETCA NOPTATUBHOCTb
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BbiBOObI

= Y accembnepa us Go toolchain HeCTaHOAPTHLIM CUHTAKCUC
= [lpn ncnonb3oBaHun accembriepa TEPSETCA NOPTATUBHOCTb
= Accembriep CTOUT UCMOSb30BaTh, ECNU Bbl 3HAETE, YTO AenaeTe

108
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